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An astronaut goes for a moon walk. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
Look at each of the sentences below.  For each sentence, put a tick (9) in one 
box to show if you think it is true or false. 
 

  True False Don’t 
know 

a There is no gravity on the moon, because it has 
no atmosphere.  So he feels weightless. 
 

   

b He can jump up and down easily, because 
gravity on the moon is only one-sixth as strong 
as on Earth. 

   

c The force of gravity on the astronaut is bigger 
than on Earth. 
 

   

d If the astronaut drops a spanner he is carrying, 
it doesn’t fall.  It just floats beside him. 
 

   

e It is much easier to start and stop a Moon buggy 
moving than on Earth, because its weight is 
less. 
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